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UNIVERSITY OF NORTH BENGAL
B.A. Programme 6th Semester Examination, 2024

GE1-P2-PHILOSOPHY

Time Allotted: 2 Hours Full Marks: 60
The figures in the margin indicate Jull marks.

SECTION-I / Rehl-< /| @vs-&

| Answer any four questions of the following: 3x4 =12
e @ DIFfT 2t 683 mes
T gt o TV HHEHD] TN e —

(a) What does sp # 0 mean? 3
sp = 0 1o [F @[ 2

Sp = 0 @ 372l TATSTEN |
(b) What is called fallacy of illicit major in the categorical Syllogism? 3
o 1T TN SEY AL @ PP 1 2
ST gES-UE &Y Tl 9 S 2
(c) What is existential fallacy? 3
R B (IF TS 6 @R ?
arfzrea a‘iﬁr T F o ?
(d) What is obversion? Obvert the following proposition. g 1+2
All that glitters is not gold.
e & o Frefe oAb Rafee w4
FE TROCE I8 @i
Ry 3 21 7 cerep! abaTeg! ek THEN —
e et TegE G g
(e) What is copula? Answer with an example.
TGS {5 7 SRR G
T 3 & 7 ITER0T R JASTER |
(f) What is contraposition? Answer with an example. 3
SRS % SRIZEPR TIIFA
e 3 2 2 SaTeRU R THNE |
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SECTION-II / Fei-4 / gve-d

2. Answer any four questions from the following: 6x4 =24
e @@ bIAfp acs e nes
o1 R 3 TR ST S e —
(2) Distinguish between good and bad analogy. 6
it @ T B s s #id F91

o oS e T BT |
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(b)

(©

(d)

(e)

®

(a)

(b)

Distinguish between deductive and inductive arguments with example.
iR ST <R IR I T Sl 9
PRI < ST T g7 el e e |

Determine the validity or invalidity of the following arguments with the help of
Syllogistic rules:

(1) EAO-4th Figure

(i) Ram is dishonest and he is coward so all dishonest are coward.
Tracorm sice e wemif fRsfRie 3 teret s witase! o w42

(i) EAO-vgd 72N

(i) SIS 22 91l TR COF FI7J39 AR Feve] 1Y 3T 22 ivfeq|
RO From SR FefRed o araeedT dudT ft siuar Rk
TR —

() EAO- (3l fiv) 4th Figure

(i) I IH B I T WoET 5, T W S ST g5 |

What is conversion? Why ‘O’ proposition can not be converted?
SRS & 2 <O’ 0T WA 7S TG @4 2

ST & B 2 b O TbaTeRIen! STTere 5 T 2

Use truth table to determine the following statements form as tautology, self
contradictory or contingent:

@ @eve=[p-q9=1]

() p=[q-(~pv~q)]

SRR ARICY Fos 7], Fos ey, wemt =i fis ae
@H @eva=[p-qo1]

(i) p=[q-(~pv ~q]

g ATRUMe! erRAT o adharrewar 3T (tautology), ¥ feRyemeY
(self contradictory) X 3THRHE (contingent) T BT —
@D v =[P -9 o1]

(i) p=[q-(~pv ~q)]

Distinguish between mediate and immediate inference.
TR 3R GG ST N 714 9|

T S T ST e e ¥ Urfeig |

SECTION-III / Feis-9 / wusar

Answer any fwo questions from the following;

FrAFIRS -P 75 2t T s

T FRyp! Pt §F Teremm ST ey —

What do you mean by ‘Distribution of term’? Which terms are distributed in A,
E, I, O propositions? Discuss.

AR FIOT TS [ @RI 2 A, E, 1, O 60 G @lef GBI 2% 217 O SIS 51
UG ST & RS 2 A, E, I, O A1 3 21 U< 21 57 T8 qrjen |

Explain the traditional square of opposition of propositions with examples.

2bfere R TgEI Srizaez I 1
eV oy v rav e BoTer o1 =7 o 7t |
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12x2 =24

4+8

12



UG/CBCS/B.A./Programme/6th Sem./Philosophy/PHIPGE2/2024 SE

(c) Determine the validity or invalidity of the following argument with the help of Ix4 =12
Venn diagram:
(1) EAE-Istfigure
(i1) EIO-3rd figure
(iif) He must be hedonist because he seeks pleasure.

e gfeefom confog 7 taxol aw wigge! fid a2

(i) EAE-&=5k=E

(ii) EIO-9Sm@ wZ+

(iii) &7 638 JA @ &7 2 I e |
%@@Wﬁﬁﬁ%ﬁ%ﬁﬁ%@%ﬁﬁﬁﬁﬁ@%mﬁ%mv@qm
(1) EAE-Ist figure

(i) EIO-3rd figure

(it) ST gEarRy g1 fFfe S ot Tevo |

(d) Use truth table to determine the validity or invalidity of the following arguments: 6+6

@® (Pve>(~pvQ

~(~pvq

N A)
(i) (p>qv(~q>p)

~(>9

S (~q4>p)
e AR AR WERS Fira i twee wia staet fd w4
@® (Pved>(~pvy

== pivig)

~(pvaQ
(i) P> v(~g>p)

~Ap54q)

~(~q>p)

e ATROfieRT STERAT Rre=ifTaes JReewaT e siffy srdfera frerfeor TRy —
@® (Pvy>d(~pvy

~(~pvaq)

~(pvq)
(i) (P>qv(~q>p)

~ip o)

S (~q>p)




